M4 s (F45c - %5 58%)

=3 9 s E=S8 =<
A FL & o2 o411 B Fili GlIRE/IG2 PN
T % 4 | PRk 2 6 FE  HHEITFERRIZRITICR D S AE AN
THZEFEPT | FHEAT - ZEHIRSA TR BIHZ 333 MEE
TEHEZ%D
N | B | BSR4, FELSR 1 BOMBARL
FEYE YRR | BHSSER
B | e AL A fL H Rk 2 64E7 H 2 8 H
R FF | s NN
P&ﬁ%x@i%% EPFIBEIZIS}\7 /VHEKKH:
B F T vt o
i i B2 RTHERE S — 1
B & 414, 720 |® % A YRk 2 64E8 H 1 H
B0 B
A% F H o A H| f& A H R 2 648 43 1 H
=25 N7
St
ELT-HA
W AHES M BIRERITEE 1 6 750 25 1 HE 222
AN 5T £ %
EEEK) | .
o %:REEEE
AN
S=1 (7)1 H = A H




